N = O &8 AF & & Al A

20108 =0llat LBHSIAL JIEtSE3H JI22Z At ~ J|2 2 At

SA: JIEZAY
y: 2F 0|8 XX

Cel 2E wE 0l (Etel: &8
(=] % ol (= (=] 1E- I|_-|LI;=|_||:_ =
SN FB - S2A(3) - MEAY - BES 0 &t o4 i HRE2
I 2 ArAl 9,610,837 12,458,220 12,847,383
= 4,517
= 9,606,320
=3 Jlgl =8 3,781,548 1,906,998 1,874,550
= 4,517
= 3,777,031
TH 9s 0y 404,790 553,570 148,780
SECESEIES= 87,120 77,100 10,020
201 Yer2oy| 72,120 73,800 A 1,680
01 At el 72,120 73,800 A 1,680
Oger+g| 64,200
oTHYRNE TZA M
10,0002 %3, 000 30,000
oTHUN w2 11,000
— 2R 60,0002 * 100 6,000
—CD 50,000 * 10004 5,000
0THER 25 MH 4002 %10,0005 4,000
oURELE M 11,0009 %1,2002 13,200
OHTAIRUA 2LRE M
10,0002 %600 6,000
Osg+g 2,800
02T MORRAS Haur
70,0008 102 x43] 2,800
ozl 5,120
OAFMLE S22 AH 5,120,008 5,120
207 eIl 15,000 0 15,000
02 & AHE Y| 15,000 0 15,000
ZQ SXAIY 0B 2= 15,000,008 *14! 15,000
ZEAI OH 187,660 361,460 A 173,800
201 Yer2y| 17,900 20,900 3,000
01 At 2l 17,900 20,900 3,000
OFIEIES=] 7,900
OANMEN BRE U AHS HH 2,900
—B40H(OI2) 50,0002! *80§ *23] 800
—BHAOH(HIZ) 90,0002 *103] 900
—BE3 4,0002! 15052+ 1,200
0B AN S MK M
5,0002 1,000 5,000
oHMIHA HES0l2 AN
10,000,0002 * 13| 10,000
202 01t 48,060 16,860 31,200
01 2U0tbl 48,060 16,860 31,200




SA: OIS ZAY
By 2F 0|8 X

cel 2E wE 0l (Etel: & e
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
O JIHYLE o1l 18,060,000 18,060
OET#Y IO oftl 30,000,0002 30,000
203 PRETY| 5,000 4,500 500
03 AIBEXYREAY 5,000 4,500 500
OZHIIE AMEN 5,000,000 5,000
301 LetEaa 5,900 7,900 £2,000
10 BAFAHI 2 A2 2,500 2,500 0
OZFEQ L T2ME FAHOS HA&T 5
Al HIB 10,0002 %502 %53 2,500
12 JIEt2 A3 3,400 5,400 £2,000
OAIZ S MO 242 3,400
CEEEES 300, 0008 *1% %23 600
S 200, 0002 +224 x23] 800
CF=F 100,000 +3% x23] 600
0 EOI Xt 10,0008 +70% x23] 1,400
EPUS 10,800 11,300 A500
PN 10,800 11,300 A500
OAZHE 24T Ty 2,000
CEEEES 300, 0008 *1 %23 600
eSS 200, 0002 +224 x23] 800
F=F 10,0002 +32 523 600
OAl 2 Hl ot El2 3,400
CEEEES 500, 0009 * 152 A{ x23] 1,000
o 300, 000! *2 Af %23 1,200
CR<F 200, 0009 *35 A %23 1,200
OFF 24AH 22 Qe
10,0002 100 23] 2,000
O#FEA 24 Chel 3,400
RS 500, 0002 1€} x23] 1,000
0P 300, 0008 *2& %23 1,200
CF=F 200, 0008 *3& *23] 1,200
306 =012 100,000 150,000 50,000
01 £012 100,000 150,000 50,000
ONFOIARLATL SPAR 100,000,000 100,000
S8t JIs2 8 130,010 115,010 15,000
201 Yer2y| 83,010 73,010 10,000
01 At el 21,510 21,510 0
Oger+gt| 15,250
OEMMASNY ANEAN MR
35,0009 %150 5,250




SA: OIS ZAY
By 2F 0|8 X

Sel 2H W J|s CEERE)
SH-EH . S2(30) - MRAY - BES 0f Ao e HRE2
o= CSolE HMAH0IA M
10,000,0002 14} 10,000
o2gag 6,260
O HBRALEIIFIAE BAFHA +g
70,0002 +623 33| 1,260
o JIEt #I¥3 29+ 5,000, 000& 5,000
03 A2 EHI 61,500 51,500 10,000
OXIS XX ZLHHE &} 51,500
o&Hl ¥x&E 400,000 *53] 2,000
oUDIXBE S PAYM
2,750,000& *6H 16,500
OXNYRZAUN BINESS HE
3,000, 000& 3,000
OXNBXZAUN 222 29
30,000, 0002 30,000
OXMEI 24 ST 238
10,000,000& * 13l 10,000
301 Et24 = 12,000 5,000 7,000
10 #AIMHI2 S 5,000 5,000 0
ONSNX AL UE BT P43
50,0003 x50 »22 5,000
12 JIEH2 43 7,000 0 7,000
OZJEIE 2 85 243 7,000,000& 7,000
303 Z&az 15,000 17,000 22,000
01 Za3z 15,000 17,000 22,000
OLd Bl 2=8M 4 15,000,000& 15,000
401 Al&HIZL=ROHYI 20,000 20,000 0
04 A2+ Al & H| 20,000 20,000 0
OXNYRHBAUE S22 M=
20,000,000& *14! 20,000
=& g8 668,389 412,412 255,977
2%0|= el 73,725 71,862 1,863
201 sty 60,437 59,174 1,263
01 AtE22/Hl 46,368 50,283 A 3,915
Ogut=gH| 32,942
otEF=E & WAEN P2 13,392
~E97 12,0002 ¥15J A3 #1228 6,480
— XX 9,000 *10IH Ab*32+ 123 3,240
— =2t 2,500 «6 I Abx6 S+ 128 1,080
— &2t 12,0003 x4E #2128 1,152
—F2HA 3,000 x5 +2 2 48 1,440
CRHER MTEY U o3l 19,550




SN
X XH .
S Tt

el

S]EETYN
2% JI" X3

=3 82

SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
—CIXIZ AR 2134(8.9%12.7¢cm)
300& x5, 0000H 1,500
—COIXIEAE Q154(12.7%17.7¢cm)
1,000& *10,0000H 10,000
—CIXIE AR 213} (20.3%25.4cm)
6,000 50004 3,000
—CIXIEALE Q13}(27.9%36.5cm)
10,000 *2000H 2,000
—CIXIZALE 2134(50.8+60.9cm)
35,000 *300H 1,050
—ouzd 2 10,000 *2000H 2,000
ORAN=2ZE Lit=ZH| 8,626,000 8,626
O=&l 4,800
OBEESENEAA B O4AY)
4,800,000& 4,800
02 Z5=234l 14,069 8,891 5,178
Os32z= 2 HAl 3,169
osJI*H 1,750 x60S + 123 1,260
oYLt H 2503 *300= 128 900
0 AJI0|2t0IE =41 26,270 123 316
0RESUURB(ZE EEAE EE)
35,000& 123 420
0 HSIE tlZ 15,000& 123 180
SR 7,700 1228 93
OAl & EHIs Xl 3,100
o Ft0ilet = XYl 300, 000& *3CH 900
o VIREHI |XIdl 100, 000& 2CH 200
o At&IZte| Al AED S X2t 2,000,000& 2,000
O Xtk 3,000
o A EHI Rl 3,000,000& 3,000
o882 Z2NE M2
200,000 128 201 & 4,800
202 (4Hl 13,288 12,688 600
01 =LA bl 13,288 12,688 600
OzZ3e: 2 Az=+d 13,288,000& 13,288
=3 g2 ¥ &0 594,664 340,550 254,114
101 el ] 13,764 0 13,764
04 JIZtHIZ2E2HEE > 13,764 0 13,764
OZZEE MREXQRY 13,764
o=k 35,200 x1H+22 x 123 9,293
oRrsSRY 35,200% »1H «52 1,831
oXt=RERI 35,2003 x1H 15 528
o &El&Z 35,2003 302 x 1H 2 2,112




SA: OIS ZAY
By 2F 0|8 XX

o9l 23 28

= A} OH

- - CR((3) - MR A

11

el

Upre Al 346,400
AR 22| 346,400
Ot gH| 346,400
OBHEA WS 1,375,000 %43+ 122 66,000
02X BIE 550, 0008 *113] <128 72,600
0 =X BIE 220, 0008 *2903] 63,800
02X PHSE BD 3,000,008 103! 30,000
0FAX BHSH D 600,0002! *303| 18,000
0JI&EE ¥ S=0h M 20,000,0008 20,000
OA2AIY QIFHY AHSE  500,0002 122 6,000
ONBANM SYL M 20,000,000 20,000
00l &0 T2 KX 50,000,000 50,000
SR L] 9,500
ANBERYDET Y] 9,500
OZFER AEN 9,500,000% 9,500
A& HI L2 O] 220,000
Al£HI 218,992
OZIEY HH == 138,992
0NFY B=(23) 78,992,000 78,992
ooty B8 6,000,000 *103l 60,000
OZFOXNE S22 &X 80,000, 0008 80,000
A& S | 1,008
OZBDE HH B2 ALY
140,000,000 %0.72/ 100 1,008
RHabz S| 5,000
THatU S 3 S| 5,000
OZHEEE ZYNE 5,000,0002! 5,000
s e 2,537,699
&8 HI2Y 269,570
201 Lere gl 33,925
01 AtS22/HI 33,925
Ogere ] 25,125
0ARE 7Y S 25,125,000 25,125
osg+g 2,800
ONYEIMIEHE Mol FHaA 4G
70,0002 +62 <23 840
ONTHEBA MOlRRE A 4T
70,0002 42 *13] 280
OSTA MBS BA 4Y
70,0002 62 *43] 1,680
oxtzexe 600,0002! *103| 6,000
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SN

JI= 2 Abas

dx: 2% I8 =¥
ool WE 29 (e a2
SN HH G (EH) - MBAY - BYS 01l &k o Soe s
202 O4Hl 80,000 80,000 0
01 =LA bl 80,000 80,000 0
OMZess g% o gF =
80,000,000& 80,000
301 LetE A= 128,800 91,600 37,200
07 B12+ol=2l (¢ H| 100,000 70,000 30,000
Oolztel =2/l 100,000, 000& 100,000
10 HAAHIZ &3 28,800 21,600 7,200
OAE A U A8 BALHN(ZE)
0,000& x60E x123] 28,800
302 Ol THoHE &S 10,000 10,000 0
02 QUM E A= 10,000 10,000 0
OMGHCH 2 EHX 24 5,000&*1,000E *x23] 10,000
403 X XISHMSIHE201& 16,845 28,972 At12,127
02 S| 2SOCHStCH AL I 16,845 28,972 212,127
OXYHE 22N A (e~ X)) RXE =4
16,845,000& 16,845
ME=E Ao 1,500,000 0 1,500,000
401 AlEHIZ 2 1,000,000 0 1,000,000
01 Al&H| 1,000,000 0 1,000,000
OME =M SHFHA A 1,000,000,000& 1,000,000
402 SItXHE01H 500,000 0 500,000
01 22 G2E X 500,000 0 500,000
OMg=H SHFHE A 500,000,000& 500,000
FOIME HOALY 200,000 0 200,000
401 A &HIL 2048 200,000 0 200,000
01 Al&H| 200,000 0 200,000
OLAE =RIHEA AY 200,000, 000& 200,000
AMEH 23 K& 461,830 393,650 68, 180
201 B3| 350 350 0
01 AtE222|Hl 350 350 0
OMIIHHMEZXZ o3 2Y =¥
70,000& x5H 350
307 gI12told 461,480 393,300 68, 180
03 AIHME=S 461,480 393,300 68, 180
OMIEHHM BX3 461,480,000& 461,480
e2ta 2H 66,799 45,810 20,989
101 Q14| 20,989 0 20,989
04 JIZHMIZ2XEE =+ 20,989 0 20,989




IS ALA
28 0|8 =H

DM

(=
3 =29

_ _ _ Muo
M- E& . S2(3) - HRAY - BaS Aboy i
Ogdazd o2y 20,989
o= 39,4503 »1H 225 8,877
or=7g 39,4503 x1H x52 2,052
oiXtRESwY 39,450 x1H +152 592
o ElAZ 39,4503 30 x 15«8 9,468
201 LBt 45,810 45,810
01 AFR 22| 43,450 43,450
OYZIME (0LAEXIRI7E) 2,500,000 103 25,000
O =X 1,800,000& *10&] 18,000
oxg= 150,000& *3H 450
02 2224l 2,360 2,360
OeIMIl S IIAHEH =X 2,360,000& 2,360
EMHE == 39,500 35,800
201 LBt H| 7,000 5,500
01 AFR 22| 7,000 5,500
O=&l 7,000
oll&AtA SR =& DHAHI 7,000,000 7,000
202 (4 H| 28,500 26,700
01 =Wl 28,500 26,700
OME £ WA &E 24 6,100, 000& 6,100
onagse =& 5,400,000& 5,400
ONEt=zs g = 17,000,000& 17,000
203 HRF&HI 4,000 3,600
03 AIMFXHRF=EH| 4,000 3,600
OMA=S AIMHR =& 4,000,000 4,000
HRet SEAg & 29,068 34,568
KA ZEAE =2 26,048 22,548
201 B3| 7,196 5,196
01 AtE222/Hl 7,196 5,196
Oget=gH| 1,500
OTAMRFA MEES F& 1,500,000 1,500
OF=3=3:] 5,696
o ZAHR F& E2 Al 5,696,000 5,696
202 (48l 18,852 17,352
01 =Wl 18,852 17,352
OzZMEs & IE+F 18,852,000& 18,852
SZAL =& 1,500 1,500
201 LBt 3| 1,500 1,500
01 AtE22/Hl 1,500 1,500




SA: OIS ZAY
By 2F 0|8 I

el JHRE DEAE PE (Ete: & e
_ - MEo
SN HABIH) - NRAY - BES Off &t 0l At o HDE2
OS2 LEt=EH| 1,500,000 1,500
SHA MMSE 1,520 1,520 0
201 Lere gl 1,520 1,520 0
01 AtR2teldl 420 420 0
Oed+d 420
0B SRR MY
70,0003 x3H x23] 420
02 3323l 1,100 1,100 0
OZAX MUSE HAS8 BEHE ==
1,100,000 1,100
HRSH 2l 141,602 181,816 A40,214
= 4,517
o 137,085
A% 22 77,940 68,440 9,500
201 2Bt 46,240 46,240 0
01 AtR2teldl 46,240 46,240 0
Oaslel Ha A & 2,000,000& *10=] 20,000
OsaMd=3 2,000,000 »102] *70% 14,000
OLAAS FIAHIS 3000002 1024 3,000
OHS MY 550,000 x12& 6,600
OJIgH SSYHELY = 220,000& »12& 2,640
202 O1H 6,900 6,700 200
01 2 6,900 6,700 200
25 JEYR =M 6,900, 000& 6,900
303 Zal= 4,800 4,800 0
01 Z&3 4,800 4,800 0
OB4LZAZ 600,0002 x84 4,800
305 Hia=s 20,000 10,700 9,300
01 Hhat=s 20,000 10,700 9,300
OZ 34l & 204yl 20,000,000 20,000
gt 2l 6,410 7,050 AB40
201 Bt 6,410 7,050 A640
01 AtR2teldl 6,410 7,050 A 640
Og et 2H| 1,980
odHEdd F=5 150,000& * 122 1,800
ogyuEy 90,0002 23! 180
oed+g 1,130
OHRUEUAMN =& 150,000 «1& 150
oRRINESAAS BN g
70,000 x724 <23 980




SN

JI= 2 Abas

Hu: 2 0|8 £
ool Mesy e EER-E)
SN EE - ER(EN) - NRAY - BaS sl e HlRE2
O=&l 3,300
oHSRUHES HFF& OH4Hl 3,300,000 3,300
SH 2 52,735 46,488 6,247
101 14| 2,625 14,231 A 11,606
04 JIZtHIZ2E2HEE > 2,625 14,231 A 11,606
OAZH SHEMRRI 12|
3,500, 0003 *75% 2,625
201 LetEI| 35,290 29,437 5,853
01 AtER22/Hl 32,290 26,437 5,853
Oget=gHl 32,290
oAt SHZEA =22124H]
14,000, 000& *75% 10,500
oSHAHE HH 10,000, 000& 10,000
oHERXNE M= 10,000,000& 10,000
OMEMSHZEZA B2 & AREZ 7Y
790,000 790
OQPFHUETAl B0 A
1,000,000& 1,000
02 =234l 3,000 3,000 0
OSHEHOIX SXE= 3,000, 000& 3,000
202 O4Hl 2,820 2,820 0
01 WA YI 2,820 2,820 0
OSHEA g2FA 2,820,000& 2,820
308 XNXISHHSOIE 12,000 0 12,000
05 MXEHM2AREES 12,000 0 12,000
OZ G2 EZAL AIZRES 12,000,000 12,000
SH A 4,517 59,838 255,321
= 4,517
101 el 4] 4,241 59,838 N55,597
& 4,241
04 JIZtHI2E2NHEE S 4,241 59,838 A55,597
O3 A2 SHZ A 12| 4,241,000 4,241
& 4,241
201 LEH2HH| 276 0 276
& 276
01 AtS 22l 276 0 276
OZ3HASSHEAN MREE 2|
276,000 276
= 276
HY2LZHI(JIEZAA) 85,289 88,783 A3,494
Jl=2Z4l 65,549 69,043 N3,494




SA OIEZAI
M HE2HAH (D& 2AY)
crsl: Jl= (crelaa
SMN-HHM .. AHA(SH) - MRAY - BES Aol a4 Hlw &2
- cSH I T2 ° . [= Bl e =5 0:”/‘l|_% Lsa
Jle=3| 65,549 69,043 A3,494
201 LBt 36,949 40,443 A3,494
01 AFR 22| 34,449 37,743 AN3,294
Oget=ZH| 25,449
OARES FY 70,0003 x21H »23| 2,940
OEMERED &Y 225,000 *6CH x4 3] 5,400
oZctZelH &  439,000& «1CH x4 %1 53] 2,634
O ED ABE 50,000 *6CH*2.53] 750
o=AJ| EYH 375,000 +1CH*32] 1,125
o=AEXN FY 5,460,000 5,460
odlZ2R=EZ 70,0003 x12& 840
0RA2ZE Let=EH| 6,300,000& 6,300
O=&l 9,000
o EHOIHR(ZS) DHAY 9,000,000& 9,000
02 22234l 2,500 2,700 A 200
O332= & AMA 2,500
0RHEZ S 2,500,000& 2,500
202 O4H| 28,600 28,600 0
01 =LHAbI 28,600 28,600 0
OBUALRFX (S E) 28,600,000& 28,600
ol 2 oyl 19,740 19,740 0
elals] 19,740 19,740 0
203 HRF&H| 3,300 3,300 0
01 JI22ILS=&H| 3,300 3,300 0
(OF=F 275,000& = 12& 3,300
204 F243AY| 16,440 16,440 0
03 EHIR-HESHI 16,440 16,440 0
Ol Faa=g=, 150,000 6 F x 123 10,800
OZAEE 80,0003 x4 ZH 12& 3,840
OogRsiHge 50,000 *3Z x123] 1,800
((Xs]}s] 3,304,000 7,952,439 A4,648,439
(:{Ms]Rs] 3,304,000 7,952,439 A4,648,439
ol 814l 3,304,000 7,952,439 A4,648,439
801 0tilHlYl 3,304,000 7,952,439 A4,648,439
01 ollblbl 3,304,000 7,952,439 A4,648,439
ooyl gl 3,304,000,000& 3,304,000
MWLESOIE2ZAIA) 2,440,000 2,510,000 AT70,000
BHXE 2,440,000 2,510,000 A70,000
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R HPIEEYN
By e

el HET|

- _ . NE
SN BB (B) - MEAIY - BAS 0] Ak o8 e HZS2
= OlArAate & BX3 BHE 2,440,000 2,510,000 A70,000
311 X 20| XHakst 140,000 210,000 70,000
02 Al -3 - 2XNGINL IS XL S0 AHAFE 140,000 210,000 70,000
OEIE2AF & 0HO0| Tliol=7Hl A2 Ol Xt
4,000,000,000& x3.5% 140,000
601 X234 2,000,000 2,000,000 0
02 Al -3 - 2XEINLI XL SIS A 2,000,000 2,000,000 0
OEIE2AF & 0HO| Tliol=E7Hl A2 A&t
2,000,000,000& 2,000,000
802 Bret=2JIE} 300,000 300,000 0
01 = NEXZ26ta=2 200,000 200,000 0
O=2102x3 Za&H dgistad 200,000,000 200,000
02 Al - EHIEXZ2EEZ2 100,000 100,000 0
OEHIEXTZ FALN Hta =z 100,000,000& 100,000
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